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Results of studies or experiments
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Louis Pasteur conducted a famous experiment that addressed the question: "Can
microorganisms generate spontaneously?” To replicate the experiment, in the control group,
purify water in closed flasks by boiling them, and then let the water sit in the closed flasks at
room temperature for a predetermined period of time. In the experimental group, purify water in
identical closed flasks by boiling them. However, before letting the experimental group sit at
room temperature for the predetermined period of time, break the top stem of these flasks to
expose the water to outside elements. After the predetermined period of time, if no.
microorganisms are observed in the control flasks and several thousand microorganisms are
observed in each experimental flask, which of the following conclusions are valid?

T: When closed off o outside elements, purified water will not spontaneously generate
microorganisms

IL: Exposing water to the elements causes the water to become harmful to humans.

I : Breaking the top stem of the experimenta fask allowed the microorganisms to enter the
purfied water.

IV : Not breaking the stem of the control flask prevented microorganisms from entering the
purified water within.
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A writer for a high school newspaper is conducting a survey to estimate the number of students
that will vote for a particular candidate in an upcoming student government election. Al students
atthe high school are eligible to vote in the election, and the writer decides to select a sample of
students to take the survey. Which of the following sampling methods is most likely to produce
valid results?
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The graph shown above shows the results of an observational study of corn grain yield, in
bushels per acre, versus rate of nitrogen fertiizer solution, in pounds per acre, applied to crops.
Based on the results of this study, which conclusion is best supported by the data?

®

Using nitrogen in the soil causes greater grain yield.

There s evidence of a linear association between the amount of nitrogen applied to
the soil and the grain yield.

There s evidence of an association between the amount of nitrogen applied to the
soil and the grain yield, but the association does not appear to be linear.

Low levels of nitrogen in the soil leads to poor grain yield.
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Question 10f 5

A police officer recorded the travel speeds, in miles per hour, of traffic on
‘amajor arterial road. The histogram to the left shows the number of
vehicles driving at each speed. Which statement best compares the
mean and the median of the data?

(@) ot 10 mean e tor s .

‘The mean s greater than the median.

‘The mean and median are approximately equal.
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Question 2 of 5 ® Video @ Hint () Report

In San Jose, the amount of time It took each person to get to work was
recorded and founded up to the nearest 5 minutes. The data colected
for men and women are shown in the bar graph to the left. According to
the bar graph, which of the following comparisons is true?

@ ‘The mean travel time for men s greater than the mean travel
time for women.

‘The mean travel time for women is greater than the mean
travel time for men.

travel time for women,

‘The median travel time for women is greater than the median
travel time for men.

@ ‘The median travel time for men is greater than the median
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Adult workers in Los Angeles County were surveyed to see how many
vehicles were available in their household. Data was taken separately for
males and females in order to compare them. According to the bar graph
1o the left, which of the following s true?

‘The median number of vehicles available to females is
greater than the median number of vehicles available to
males.

‘The median number of vehicles available to males is greater
than the median number of vehicles available to females.

‘The median number of vehicles available to females is equal
10 the median number of vehicles available to males.

There is not enough information to compare the median
number of vehicles available to females and males.
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A class tested their reaction times to catch a falling object. The dot plot above gives their results,
1o the nearest tenth of a second. Which statement best compares the median and the mean for
this data?
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‘The Effect of Sodium Chioride on the Boiling Temperature of Water

Tablespoons of sodium chioride added to one quart of Boiling temperature in degrees
water Fahrenheit
0 211.90°
1 214.60°
2 217.30°
3 220.00°

‘The table above shows the results of a controlled experiment designed to determine the effect
that adding sodium chioride to water has on the boiling point of water at sea level. Based on the
results of this experiment, which conclusion is NOT valid when up to three tablespoons of
sodium chioride are added to one quart of water?

@ ‘The more sodium chioride that is added to water, the higher the water's boiling
temperature becomes.

‘The more sodium chioride that is added to water, the longer the water will take to
boil

There is an association between adding sodium chioride to water and an increase in
the boiling temperature of water.

There is a linear relationship between sodium chioride added to water and the
waters boiling temperature.




